Free Response with graph of function, definite integrals, absolute max, limit
AP Calculus

This free response question has some tricky parts. Find the questions you can answer and get those
points. Then dive in to the tricky ones and don’t let yourself get intimidated! You know all of this!!

Graph of f
The continuous function f is defined on the closed interval —6 < x < 5. The figure above shows a portion of

the graph of f, consisting of two line segments and a quarter of a circle centered at the point (5, 3). It is
known that the point (3, 3 — \/5) is on the graph of f.

5 —2
(a) IFI 6]'(x) dx = 7, find the value of'[ ] f(x) dx. Show the work that leads to your answer.
5
(b) Evaluate L (2f’(x) +4) dx.

X
(c) The function g is given by g(x) = I 2f(r) dt. Find the absolute maximum value of g on the interval

—2 < x £ 5. Justify your answer.

107 = 3f7(x)
(d) Find lim :
x—1 f(x) — arctan x




